y=3.5

1

2x — =

@ 2x 5
@ x+2y=3

® 3x-2y=7

® -2x+10y=6

® 0.3x+ 0.1y = 0.7



2. x y7tA9Sd o, o F 3x+ 2y = 19 B WSS S A%
o7 BE el 27
@ (1, 8), (8, 1) @ (3, 5), (5, 2)
® (1, 8), (3, 5), (8, 1) @ (1, 8), (3, 5), (5, 2)
® (1, 8), (5, 2), (8, 1)






1]

oju
S

)
14

o

@ Ox24+0Ox2

D O®x3+0

@ Ox3-Ox2

® Ox3-0©

® Ox2+0Ox3



ax+4y = -4
2x+ by =2

oML W, a+b 9

s

o
=



ol & (x, y) 7k x = 3y o] TAIE



ojn

o]},

jus gy B
T
S AT

@®
@
o] oFof ) ]

™
w0 =T
=
Q)
y .
3150_v R
l__l
-5
— It S
~———T
- F
%o 0
m T

™R E A~

B O HY .




AU A 2x +y -2 =3x—3y— 1 = 5= Zo]a},

8.

.

A



7} A& P

I

CEER N g PR

bl

Bo

oA

a



AolA 9% o] A= 300g = Vs

10. 7% o 2= 10% © 5
= o] WagrH?

#1 gteh 10% o] A&

12 O
e
oo ™
g

=T X

@ 100g @ 200g @ 300g @ 400g  ® 500g



of gk FollA 7t

Sh= x

HSA 2-6x <162 T

@ 2 ® 3 @ 4 ® 5

D1



S L
5> Ex—4

il

i

D x<-3 @ x<-2 ® -2<x<3
@ x>3 ® 8= gict _



13.

= =
g THEA

A 6(x—3) <4x+ 17 <6(x—2)
49} 7 2 Bae] A ook

My 4z

<!

g

L

17]

A
— X

o 2 % M



14. ol FdE& 83A4= 450 7H7F FEe]al 50 7HE E719 1 70 10
99l o] Fabdn. E4850] 1500 9& @A o 2AE
o R 7R Bl 5 Q=] et ?

@D 20074 @ 2507 ® 3007
@ 35071 ® 40074






16. &4, 5K, 7]do]7} 37 Hol 540m? Q1 =2 WH|7] & st=tl] 9 ¢
Aok 71@olrt s 12 o, S E o} 7] Holvt 5H 15 Ao

ol A& &
Aty gtk £ 9 SHuk BH| 7|2 stohd = Al 512
W71 B 4 9l ] el A, el bl

2
® 28m @ 39m? ® 42m? @ 49m? ® 54m?



ohe 2

o

REA0 Hehd 2 % 87

O

rlo

T

re AL

§i

D x oA 5 S M 5= x o] gujRTE 22| Ut = x-5 > 8«

@ x 9 3HjolA 5 &
= 3x-5<x+3

=
i
rir

x ol 38 H& 4 ojatol},

Sl 50 3 v Rt 327

r
>

=
=
=2
=

= 5x < 2000

® xold2S M 4e] 4ul 98 A T = 4(r-2) <9



18. tt

HEA F x =27} St HE ALY

oo

D x+3>1 @ -3x+2<0 ® 2x-1>-5

@ 2-x<1 ® x-1>2



ax—4<x

sholat

___rL



20.

b 2

D 10 @ 9 ® 8

e
—
=

SHe Al &4 a, b, cE20< (@a-c)? +b <222 W%

.2a-b+c 9 L2

@ 7 ® 6



21.

oz} gt
ot sH ot ofzke 45
S8 60, <2t 127K
® st 65, <& 1371

s 607, o4 1174

gt ool 5 g4 gre
N7F G mpRe §

W 5ol Wi, 6EH
sk ol 2ol 5ol giA| ki

22} ot

)
@

Y 657, <7 1171

S8 657, <7t 1271



22.

-1<x<3,2<y<5 %9 W, 3x-2y 9] HHAGZa, LGS b L
& o, -3b + 4a & & FsheiEt

D S
=%



23.

-3x < 2(1-x)

44+ x<-2x+a
5 Sk A4 a0 7o) W9
© a<4 @ 4<a<7

@ d<ax<7 ® 4<as<7

%

>
N
N
w
=
=)

N
Y
ol
ol
K1



24.

8% 2 A=<

6% o] d&E 200g T A oA 7% ol Fe] dEa

T ), 8% o dES B g ol Aolokster?

@ 100g °1’&

@ 180g ©]A+

@ 120g °1A4F @ 140g °]F

® 200g °]At



gt Aol 500 ¥ sh= AT 800 Y St AFAES Fote] 13 B
g & FHo] 7500 Y o4 8000 ulgto] [ ASHH 500 ¥

R

1
= o
L 3AE 9 AL A 5 AEA Fopol

YER e



